65

suéamssz
RECESSED PULL

-
>
« 100 —» <
100 w)
(3-15/16") ~—91 ~ -
920 m
(3-35/64") 2-M4x0.7 7))
Il [ = ? v g
5 i _
., 2-06 -
e 120 - -t 15 fat- r-r
(4'22(/332 ) (19/32") Cut Out Dimensions wn
(3-25/64") e -t (1.8) Q0
A
n T: pa
f—f%f———fﬁsé B 3 8
LA <
| l w
I
*Titanium version avalable upon request.
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
HH-AS2 50 12 240 304 Stainless Steel Satin
)
RECESSED PULL o] | HH-AS3 O
Bn)
m
s
5 100.5 +—100.5—> —
s (3-61/64") 2-M5x0.8 Hgog" g
-‘ 5 ] 89 : Y Cc
! N & r
-~ N ny N ﬁ—rt‘ kS ty r
o o I 2-07 »
) e [s]
L 120
87
s Y [ A { ‘ ? Cut Out Dimensions
! » ~
(2] z
— 0y
3 iy b §3
X L— T =
+ \
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
HH-AS3 50 12 240 304 Stainless Steel Satin

RECESSED PULL © E-] Eo] ES-611

CopoNERT

102

| —— o
| | £ *

- -
121
— = N £ = — (4-49/64")
Y ™ 1 1 -,
ET I w L & 22 5| L
(Male Studs/Copper) (M4 Female Studs/Copper (Weld-on) hd i 2 3
with M4 x 25 Steel screws) =
* ES-611/ET: Male studs/ * ES-611/IT: Female studs/
Copper M5 x 0.8 Length 10 Copper M4 x 0.7 Depth 6
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
ES-611/ET 68 304 Stainless Steel Satin
ES-611/IT 60 20 200
ES-611/WO
www.sugatsune.com LAMP 1-800-562-5267

= (U.S.A. Only)



